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Time : 3Hrs.
Sem. V- EC/ICE/EC & Comm.

Power Electronics

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

21504 OT5031 OT5031

8

harmonics in output voltage of 3 phase inverter?

Explain it.

waveforms.

of operaton of a 1-phase full bridge inverter.

OR

OR

8
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

The following is a unipolar device:

(a) BJT

(b) IGBT

(c) GTO

(d) MOSFET

The snubber circuit is used in thyristor 

circuits for:

(a) Triggering

(b)      protection 

(c) ...........      protection  

(d) Phase shifting

dv
dt

 di
dt

 

current type dual convertor? Explain it in brief.

OR

Answer all Five Questions. 

Describe the expression for the peak value of 

circulating current. Write disadvantages of

circulating mode dual convertor.

8 x 5 = 40

8

7.
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(iii)

(iii)

(iv)

(ii)

The triac can be used in:

(a) Inverter

(b) Rectifier

(c) Multi quadrant chopper

(d) Ac voltage regulator

Which one of the following statement is 

correct? In a thyristor, the holding current IH

is

(a) More than the latching current IH

(b) Less than IL

(c) Equal to IL

(d) Equal to zero

dv
dt

 di
dt

 

trigger thyristors.

with complete diagram.

5.

OR

OR

4

46.

OT5031 OT5031



41321504 21504

P.T.O

(v)

(v)

(vi)

(iv)

Diac is combination of:

(a) Two antiparallel diode

(b) Two antiparallel SCR

(c) Two antiparallel SCR with no gate

      terminal

(d) None of these

Choppers converter convert:

(a) Ac to dc

(b) Dc to ac

(c) Dc  to dc 

(d) Ac to ac 

                                   OR

4.

3.

4

4

OR

Define latching and holding currents as application

to an SCR. Show them on V-I characteristics and

explain in brief.

thyristor.

What is meant by step-up chopper? Explain its 

operation.

OT5031OT5031
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A dual converters has:

(a) Two full converters in series

(b) Two half converters in series

(c) Two full converters in anti parallel

(d) Two half converters in anti parallel

SCR is a:

(a) Four layer, four junction device

(b)  Four layer, three junction device

(c)  Four layer, two junction device

(d)  Three layer, single junction device

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

State and explain series regulator.

(xx)

4
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Which terminal does not belong to the SCR?

(a) Anode

(b) Gate

(c) Base

(d) Cathode

Which device can be used in a chopper

circuit?

(a) BJT

(b) MOSFET

(c) GTO

(d) All of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

v
f

v
f

The method which can be used for the speed

control of induction motor from stator side is:

(a)     Control

(b) Controlling number of stator poles to 

      control Ns

(c) Adding rheostats in stator circuit  

(d) All of the above

The load voltage of a chopper can be 
controlled by varying positive.
(a) Duty cycle
(b) Fringe angle
(c) Reactor position
(d) Extinction angle

OT5031OT5031
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Small D.C. motors have best speed control 
by:
(a) Armature voltage control
(b) Field resistance control
(c) Any of the methods
(d) None of these

At a very low speed increase in field 
resistance will:
(a) Decrease the speed of motor
(b) Increase the speed of motor
(c)  Not have significant effect on speed
(d) No effect

Which of the following components in a 
transistor circuit is really responsible for
harmonic distortion.
(a) Capacitor
(b) Resistor
(c) Transistor
(d) Inductance

Which of the following class has poorest 
linearity?
(a) Class A
(b) Class B
(c) Class C
(d) Class AB

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Which of the following class have a theoretical
efficiency of 50%
(a) Class A
(b) Class B
(c) Class AB
(d) Class D

In shunt linear regulator the control element is
.................. in parallel with the load.
(a) Inductor
(b) Capacitor
(c) Transistor
(d) None of these

When a thyristor is forward biased then the
number of blocked p-n junction is:
(a) 1
(b) 2
(c) 3
(d) 4

A single-phase full bridge inverter can 
operate in load commutation made in case
load consists of:
(a) RL
(b) RLC under damped
(c) RLC over damped
(d) RLC critically damped

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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clean diagram explain class A amplified.

State and explain over voltage protection with some

examples.

Write the name of different methods used for speed

control of D.C. motor and explain any one of them

9.

8

8

OR

10.

1721504
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clean diagram explain class A amplified.

State and explain over voltage protection with some

examples.

Write the name of different methods used for speed

control of D.C. motor and explain any one of them

9.

8

8

OR

10.
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What do you mean by step-up chopper? Explain it.

mode of operation of a TRIAC

What is an inverter? State and explain line 

commutated inverter.

OR

OR

11.

8

***
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What do you mean by step-up chopper? Explain it.

mode of operation of a TRIAC

What is an inverter? State and explain line 

commutated inverter.

OR

OR

11.

8

***
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